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PASSAGE VI

‘The peaks of mountains offen lose sediment due to
wind el e | hows st poak compostions,
mountain heighs, in meters (m). and the net change in
melers (m). in mean peak height (MPH) from 1910 101970
along a section of the Rocky Mountains. A net negative
change in MPH indicates a ret loss of sediment and a net
positive change in MPH indicales a gain of sediment.
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Figure 1

‘Table 1 shows the percentage of a year that horizontal
sections of a mountain are exposed to wind.

Figure 2 shows Peak Cand D erosion rates, in mly, as they
relae 1o percentage of  year that mountain peak section
exposed t0 wind.
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Figure 2

29. According to Figure 1, at a distance of 9 km along the
‘mountain range, peaks of what composition are present,
if any?

A. Peaks of slte

B. Peaks of shale

C. Peaks of limestone
D. No peaks are present

30. According to the information in Figure 1, which of the
Tollowing propertis was used to distinguish the various
‘material that compose the peaks in the study area?

E. Particle size
G. Particle clarity
H. Paricle color
J. Paricle density
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31. Based on the information listed in Table 1, a peak sec-
tion with a height of 5.5-6.0 m would be exposed to
wind approximately what percentage of a year?

A 220
B. 39%
C. 48%
D. 53%

32. According to Figures 1 and 2, the difference between
Peak C and Peak D crosion rates could best be explained
as a difference in the:

heights of the two peaks.

force of the winds on the two peaks.

composition of the two peaks.

annual snowfall on the two peaks.
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33, According to Table 1. which of the following figures 34. According (0 information in the passage, wind erosion

best représens the elationship between the feighi of afen resus "
a pesk section and the percentage of a year tht peak F. an increase n the percentage of  mountain pek that
Seion s exposed to wind erosion” e e

G. a reduction in the overall surface area of mountain
peaks.
“ H. 2 higher number of slate and shale deposils on

‘mountain peaks.
J. a lower number of record snowfalls each year.
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